Practice Placement Test Version Three
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c) 82wl |zl
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3. (783) + 4(1166) =

a) 5447

b) 6065



c) 1949
d) 5435
e) 3321

. If 0.08z = 56 then

a) x="T

b) x =700
c) x = 0.07
d) oz =05592
o)  z=056

4 (p+9)+4p+2(¢—9) =
a) 2q

b) Sp+q—18

c) 2q—54

d) 4p+2q—18

e)  2¢+18

.6 (p—q) +9p+2q=

a)  3p+gq



b) 3p—4q

c) 3p+8¢q
d) 3p+6gq
e) 3p

If f(z) = 2® — 2 then f(xz +h) =
a)  z*+h° -8
b)  (z+h-2)°
) (z+h)’-2
d) 2*+h-2

e) 34+ h—4

. (64)%(625)% =
a) 20
b) 2000
¢) 500
d) 80
e) 5
6
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b) 2

c) %

d 3

e) g

If f(x) = Tg then f

a) i

o

c) —i

d) 1

e) 4
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d) %

e) s

—10hk*—2h%k B
—2hk

a) 53— 2h*k

b) AP —10hk!

c) —8hr3 K3
d) 5K +h°
e) -8

If f(z) = 2% +7 then f(z+h) =
a)  2°+ R +343

b)  (x+h+T7)°

) (z+h)?P+7

d) 2 +h+7

e) 2+ h+14

The graph of 6z — y + 24 = 0 crosses the x-axis at x =

a) —4



c) 24
) -2
e) 0

15. The length L of a spring is given by L = %F + 3 where F' is the
applied force. What force F' will produce a length L of 9 7

a) 16
y o
c) 8
o
e) 9

16. (22 +4x+3)(22+2) =
a) 22 +4+4x+5
b) 2 +4x+5
c) vt + 423 +522+8x+6
d) rt+4z+6
e) 24 25

17. (3¢°28)(—4¢*2°%) =



18.

19.

b) _q18 e
C) —~12 qll Zl7
d) 1247

e) —L

22+10x+25 z+38

2 — 64 22 —2x
) 2+ 10x+ 25
3 4+622 - 162
b) 22+ 10x+ 25
3 —622 16z
0 22 +10x + 25
23— 10224+ 16x
Q) 22 +10x + 25
23+ 10224+ 16x
e) x? —25
3 —622 - 162
VI =
a) br+Tx
b) bv8zx

c) 7p° 22\ 2p =



20. 7—[6(2—4)+9] =

a) 0
b) 28
c) 10
d) 8
e) 4
21 4
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2v/10
b =5
2
c) %
S
2
5
e) B

22. The solutions of 722 — 5z — 18 are



a) 2 and 2

b) —2 and 2
c) 2 and —2
d) —2 and —2
e) 2 and -9

b) 7
c) -5
R
e) —%
15
L2 —— =
4
3
a) —5
3
b _2
) ab
7
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